

WELCOME TO WINTRON GAME

Colour prediction games are of types of online gambling where playes predict the outcomes of colour and symbols in various scenerios, typically involving spinning wheels or cards. Here's a basic overview of how these gammes typpically work.

Play Now



TYPES OF GAMES



PLAY>>

WIN GO (1 MIN)

GREEN

PURPLE

RED

GUESS THE NUMBER

PLAY>>

WIN GO (3 MIN)

GREEN

PURPLE

RED

GUESS THE NUMBER





DAILY LEVEL TRADE INCOME

- 1.
- On your Downline here four types of Level Trade Income.

2.

You will Recieve the 5 Level Trade Bonus on each Trade.





LEVEL TRADE INCOME

NORMAL		
LEVEL-1	0.7%	
LEVEL-2	0.5%	
LEVEL-3	0.4%	
LEVEL-4	0.3%	
LEVEL-5	0.2%	

VIP-1		
LEVEL-1 0.8%		
LEVEL-2 0.6%		
LEVEL-3 0.5%		
LEVEL-4 0.4%		
LEVEL-5 0.3%		

VIP-2		
LEVEL-1 1.0%		
LEVEL-3 0.7%		
LEVEL-3 0.6%		
LEVEL-4 0.5%		
LEVEL-5 0.4%		

VIP-3		
LE\	/EL-1 1.2%	
LEV	EL-3 0.7%	
LEV	EL-3 0.6%	
LEV	EL-4 0.5%	
LEV	EL-5 0.4%	

RULES FOR VIP

Normal-

• O Active Direct Referral

VIP-1-

• 5 Active Direct Referral

VIP-2-

• 10 Active Direct Referral

VIP-3-

• 20 Direct Active Referral





GROWTH BONUS

WITH REAL MONEY

Normal- 0.1% DAILY

VIP-1-0.12% DAILY

VIP-2-0.15% DAILY

VIP-3-0.2% DAILY



DAILY SALARY

ACTIVE PLAYER	ACTIVE PLAYER BET	DAILY SALARY
5	\$50	\$3.5
10	\$100	\$7
20	\$200	\$13
40	\$400	\$30
60	\$1000	\$60
80	\$2000	\$120
100	\$5000	\$400
500	\$10K	\$900
200	\$30K	\$2500
1000	\$100K	\$10K





PROMOTION BONUS MONYTHLY





DEPOSIT AND WITHDRAWAL

1\$

Minimum Deposit

Minimum Withdraw

\$5

Unlimited

Maximum Deposit

Maximum Withdraw

Unlimited

REMEMBER

WITHDRWAL FEES 5% AND IF YOUR FIRST WITHDRWAL NOT COMPLETED, YOU CAN NOT MAKE NEXT WITHDRAWAL.

GAMES RULES



- Select GREEN: if the result shows 1,3,7,9. You will get (95*2) 190. If the result shows 5. You will get (95*1.5) 142.5.
 - Select RED: if the result shows 2.4,6,8. You will get (95*2) 190. If the result shows 0,you will get (95*1.5) 142.5.
- Select **VIOLET:** if the result shows 0 or 5. You will get (95*4.5) 427.5.
 - Select **NUMBER**, if the result is the Same as the number you selected. You will get (95*9) 855.
- Select BIG: if the result shows 5,6,7,8,9. You will get (95*2) 190.
 - Select **SMALL:** if the result shows 0.1.2.3.4.you will get (95*2)

HOW TO PLAY

I minutes I Issue, 45 seconds to order, 15 Seconds waiting for the draw. It opens all Day. The total number of trade is 1440 Issues.

"If you spend **100** to trade, after deducting **5** Service fee. Your contract amount is **95**.



Come join us and discover why colour prediction taking world by storm. Start apinning, start winning, and let the adventure begin.



www.wintron.online



support@wintron.online





